
I CET 12th Level Answer Key 1st Shift Dated: 04.02.2023 

1. � � � � i, fflm1l � if __ � m 11. � � � -rola1 mrt1,i;'1 �· q;y .Jt� t
'1ffifl t1 _....-,,...,. 

(A) � cfIT � cfivfT
(A) •� � -l ( 8) �41•� RI -l ( 8) ;,it � � �q c'fi<'cfRT
(C) f.l<-ll�f.l-1 (D) � [C] (C) � cfIT � cfivfT � '1<l � � �'tf

2. � � � trr � ;tf;f-� � 3°? c'fi<'cfRT �
(A)�� ( 8) 51c � (D) -:inm Ji�'{-11-t�,-1�<11-.m en,- q11=f" cfivfT
(C)� (D)� [D] 12. 1_f-fZcfl'f�Pf�,3J��i?

3. Choose the correct Hindi translation of the (A)� \$1"1ciRl:i1H (8) � fcrcnm

[C] 

following word from the given options: (C) mnr�rzj"� (D) � [D] 
Domicile certificate 13. �if� ii'R � �m:r-:r � � 1ltll?
(A)%WTTUT<l?r (8),3flqffiWfTUT<l?f (A)2 (8)3
(C) �f.rcm:ftwnur<l?r (D) \i'Fl-t"WTTUT<l?r [C] (C) 4 (D) 5

4. 2.2 q;J � ift lftffi.f cfil 0.5 � cz:m:J ai csli-1-1icfii< (JR 3 
if fflm\jf@'J t, en- (JR cfil� t 14. �sin a =

4 
oar cos a •fiP:l'Rt

(A) 56m (B) 112m I I 
(C) 224 m (D) 448m [B] (A) - (8) -

5. f.h-1fi.l�a if �cnR-m��fflcf�mttt ? 4 2 

(A) O+ (8) 0 (C) ✓3 (D) ✓7
(C) AB (D) AB+ [D] 4 4

[Cl 

[O] 

6. �.q,)-11�m1<J��GCflqil��. 15. f.l'i:Jif��'R'cfiR���ai�ifqilif
(A) 1@QFf (B) �;q,lPl-1 .Jffiftg?
(C) PlchlR.-1 (D) � [D] (A) �fc'RNt (8) cft91g1�

7. c)fc1i;tr-Jffl1rif �q;qcJ;q;yi5<td•Ui-1 �\if@T! ? (C) � (D) <h'icl'!J,<I� [C] 
(A)�� (8)� 16. �x3 

+kx
2 -2x-24q;y � !101-i&0:.S (x-2)

(C)lf�� (D)� [B] t.nlkq;yirr-J!?
8. The Heading irra letter consists-a __ (A) 2 (8) -2 

(A) Salutation (C) 5 (D) -5 [C] 
(8) The writer's address-and the date 11,. •��· it�·WSJ*� ,lf�q;y'ERl'-i'�-
(C) The reference (A) Q'cPTT- � (B) �q - �
(D}The subscription [B] (C)�-1l'rr (D)rfq-TWl [D] 

9. Qicwmc. if� � ai � � q;m:l lhift!tA if 18. � �m:r-:r cnm if �� �rc:ft cfil lcl'ffir �
�\jf'f�-g �'g,3JT?
(A)wavmid�. (B) .wavgif� (A)�fc6� (B)��
(C).wavajpg� (D)jpgctgif� [A] (C)�� (D)��1tja�t; [D] 

10. Li '3m Mg cl; aft'--q "1•tl-icil � � � f.l'i:J if � ��mta.:E� 'Q1rRT ct,)m:u � 
(A)��fct'l-fq ��t? 
(B) '3uf fct@� � (A) cWJ WR mi:fw � �
(C) � '3fl'lR" $ -lITT:fitrS:f � (B) � � .. ·"),._ � .... �tU .. '1-\!.i mur
(D)� =g1=�*=,<R-i�ls.s..,,.i;� ���11�e11 (C) cfiicll�£T���

(D)�cmfitr��
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20. �tcfta;r���if�t? 28. ��ifr.1�c,;rcfiTtft-
(A)� (B)� (A)��� (B)mmlf�cfivll-
(C) �$,lH11i;, (D) � [A] (C) �� (D)�*� [B] 

21. � if q�1qJI � � a;r � � 29. fclq'fuJ (ilaflJrl cl;� \ff\;ft � ifi\' __ vrnrri,
q�41ffq�c);��1Tmm? (A)� (B) F�
(A)"Q"� (B)� (C)-;,ft;:fi� (D)�WR [A] 
( C) � ( D) � [ B] 30. � if �m:J 1' ';f1R � � ��nt�1 t :

22. � <{��-<Al il fiR.ra t? (A) 6 (B) 7
(A) Jts01&iR:csi'@.l (-!�lisie;R (B) qofq@t� (C) 9 (D) 10 [D] 
(C} ��� (-!�lisie;R (D) �tl.1(-!l'l�ll [A] 31. Go through the following poem and answer

23. Choose from the options given below one the question given below: 
word for- 0 Rose thou art sick, 
someone who walks in sleep: The invisible worm, 
(A) Philogynist (B) Somnambuhist That flies in the night 
(C) Recluse (D) Termagant [B] in the howling storm:

24. � cfiT � � rultitJf?lcfi � � � � Has found out thy bed
i? Of crimson joy;
(A)� (B) -gm And his dark secret love
(C) � (D) �� [C] Does thy life destroy.

25. +tl&tl•�frl: �if ���-lfl ���� According to the poet, the main idea of the poem
�,m � � 1l is:
(A)�� t, (B) � � !1 (A) The poet praises the secret love of the worm.
(C) cfill� t1 (D) �-�� � t, [C] (B) Wicked people win the battle.

26. 'lift 5 � 2020 ���al 24 � 2022 <lil (C) Innocent are helpless, they suffer and give up
�f�:.qi\TJT? their life.
(A)-@rcm (B) �---- (D) 'fhe beauty of-the Rose is-immortal. [C] 
(C) 4•1�cil< --- (D) � [B] 32. fw�840 i:litf � 'cl'Tc-ft tafi.rliit 10% cii (iff� � � 

27. f.lJ..ffi?l�d 1' � � lfr q;?.R � � Cli)�,.lfR���ClilS%��tR� 
�-mtitrfc);arnil��t? t,mq;,3ffc!tirfcra;tf�cPll�? 
(A) -qg � � � � t � �!ff cf GT ,3f,q (A) f 877.80 (B) i 798 
��ti 

-� 
(C) i 837.80 (D) i 924 [A] 

(B) JfUf&f�,.£jjqj�Q cfiT�i;IIPlc{-ii ��T�t1 �J..fi�d if�� cl;- ctft.f-� � � � q:;ci; 
(C) ��� :.:q1£1i{-lll Jf�fflK;rr .:tjil!Mll ��T ���? 

;;;),.� :.q"':'J !'l'ffif,l, - &RT <tl ,.,at �I ��l ::,., �='� (C] 
[B] 
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34. fatp:J�: 40. lJtR � ftm:f 'q'T'cZPf it 1'J'Sr.f � cm::ft 'RcfiTQT ct;t �

(A)� (ORACLE) � a; fi;l1l � 3m«R cfifUT, � cfifUr a; GJmR
(B)���ct<J_�(MYSQL) t:lcrrt, i'fil'�cli111Tt:lmt: 
(C) ���(MS ACCESS) {A) 0° (B) 45° 

(D)�++ (C++) [D] (C) 90° (D) 180° [C] 
35. f.\'i;:J'Qll�q;J.'.HUflR��lJJRq;J�t 41. � � 3ti�1t-Fi a;� if� '3fTln1T c'fiT 7To-J

E

B
�xpendifure cliartJ

�--mi)•-:-,.-:· 

A -·Paper{� 

.B, = Ad�ertise,�e�t_ �)
A c·=•Biridmg: (�

D =· .Pi'futi-9,g,, (�) 
E = · Royalty .''(�1 
F = .Mi_�ellilileous. f�)

ciiiiiR•I cfi\ '311lim f.h11q.:i lR fi)ra;rr MaQ@ � �
��?
(A) 2.5
(C) 3.8

(B) 9 
(0)10 [A] 

36. ·�3fytfifffi�'��if�t-:-
(A)f;r� {B)��
(C) �'Jfcll'i:.lcfi -____, {D) U� [C] 

37. uJiJ � � q;l � � wnm uJ@T i, n1 � ifiUT
;fN c'l''ifr � q;uy '1itR � #1 � � cliT �
�uf@Ti 
(A) ,.jjQch-s:.DI it (B) � �
(C) cll&ficfi-tDI ir (D) � ll [A] 

38. • � -lfTffl1T � qffin=J .'.HUI� � f? 18
�2022.t�) 
(A)� �p:if (B) � g,q1<1-i•l<'II-!

39.
( C) �- fTrftffi- � { D) �l@T{<.9"T �mt 
� if •� q�cilut-tl cfiif � � � 'lft- ?
{A) 1 �. 1973 (B) 1 �. 1973
(C) 1 �. 1972 (p.) 1 l{fif, 1972

[D] 

�llm'ifr? 

(A)�� (B) �\jj1��1 �
(C)'1fficR� (D)¢� [A} 

42. If 1092 (x +1) = 2, then the value of x is: � 1092
(X +1) = 2, i'fil' X c'fiT JJr-{ t-
(A) 0 (B) 2
(C) 3 (D) 4 [C]

43. cffi-ITir Ql��mdil <1;::;J lt, fflU ���'If��-
(A) Qlc;Q�<'N, � (B) -sitl�cl<h �
(C)�®c� (D)mit��

44. q6i<iuli .13ft'���licfi'ITT��-
(A) �� (B) � 

[A] 

(C) � (D) Jl'tl<.'1�-t [B] 
45. -m � Qlmqi c'fiT ;niJ � fflm;l :f � -lRill

a; 3tT1t � � �T � � � �Jmqif q;l
.r-ra;��,ft��I
(A) ;rm� U� B) �
(C) � (D) �� [A] 

46. Choose the correct direct speech of the
following sentence rom he options given 
below: 
He ordered them to lock the door.
{A} He said to tliem, "Please lock the door."
{B} He told them, "You locked the door."
(C) He tells them, '◄Lock the door."
{D) He :;aid to them, "Lock the dooli,"
�� q;y � "ilJG<-ll" �if�� i?
(A)�c'.fil�
{ B} � � ar-rr tJRt q;y tlT5r
{C) �Rhn�
(D)� 
Ai:tQIRle1 al���� tfr44'ltti ft"?_.......,,{f\r.-)�- (B)� 
(C) � (D) f.rcrrn

[DJ 

[B]
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49. ��if�fcn:nif�TGGcfilwmTg'1ITt?

(A)�-q;)q (B)�-�
(C) � <fret (D) <Tis cli"c5R [B] 

so. � 'R'fffitrr cfiT � � qf"ffl � cfira t-
(A) AUG (B) UAA
(C) UAC (D) UGG [B] 

51. Change th following sentence from the active
voice to the passive voice.
We expect good news.
(A) Good news is expected.
(B) Good news should be expected.
(C) Good news must be expected.
(D} Good news was expected. [AJ 

52. 30 '11ilcf?_iil<, 2022 qi)-� cl;' mraft �� if � �
�R � � rrtrr, tfEf � � � iJiff'lfT 1'flfT 'lfr? 
(A)� (B)�
(C) �-Mi!4d1 (D) � [BJ 

53. � rih--l' cfiT aim 0. 7 wft ti � tJT;fi cli't � � 3000
� � � � � tJT;ft � � vf@T t. err

22 
� f.lc6i-i-l ,m;t qr;ft cfiT � t � 7[ = -

(A) 539 "£R"-wfi (B) 530 "£R"-wfi
7 

(C)439"£R""Wfi (D)430t:R� [A] 
54. �-7 (ASOI-7)��if�� c6la-z.fftful

t?
(A) 356 ___ {B_} _12_8 __ 
(C)512 (0)256 [B] 

55. 15, 17, 16, 7, 10, 12, 14, 16, 19, 12 om 16 cli\.
imutc6T�1UUl'�T: J?
(A)16,18 (8)16,14
(C) 15, 14 (D) 1

L� 16 [CJ 
56. f.)¥,..f��<1 4 � � � q � U� c:4Rfi411Eich

�t?
(A)�.�.�.�
(B)�. l{�. �mcn. �
(C)�. �. �'<f�
(D) 1Pll, �. ;itr, �

57. .;n�c);'� �cfiTf.!ti:lfur ................ -l c6<qltil? 
(A) 1-1$1'11i.ill -H'1GR�$
(B) � $j<=!.:al?i$
(C) � '3�G�$
(D) 1-1$Rli.ill i.il-Hq.:affi$ � [A] 

58. �cl;'t���'illttt?
(A)� (B)�
(C)� (D)� [B] 

59. � il f.1"1�@.<1 Gii-lql<j �ffl if���
"cf,lf �qqf ffll<I' qmfl t?
(A) BShw (B) Swg
(C) BWhw (D) Aw [CJ 

60. 316'1GliillG if ................ � � cfiT � � 
1'flfl? 
(A) 34-.l (B) 35cl 
(C) 36°<l (D) 37� [C] 

61. 'tj,$flcil•( �fciGif�t?
{A) cPf� (B) �
(C) � (D) �'mer [B] 

62. wff qR:if ��t?

(A)�
(B)�
(C) l-l�.:r.fi'lz1
{D)� [C] 

63. tftFcR � "a;t � cfiT � 1911 � 1912 if
........... tll? 

(A)� (B)�
(O)� (D)� [CJ 
i:11<-fl�fi4< J� <l�qfc!I � ?
(A)�$ (8)�$
(C) �$ (D) �$ [D] 

65. -.l3ft •fa"1�1Gi fit.lJ{, � cfi' .............. J <l�QQli-1 �? 
(A) 39 (B) 40
(C) 41 (0) 44 [CJ 

66. .J16129 cfiT irr-f t?' __ _
{A' 117
(C) 123
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67. mstf irr::rcf � � � � Rffic:IG.f �

�i?
{A)�lfr-fq�JITll'fllcnl"
(B) "3ttl .-lflQIC'lll ifil
( C) � mcliR cnl"
(D) ���<fil
[CJ 

68. �"ff� 'ffl � "Rtmq" q;l � 'Rtmq' il �
t? 
(A)ALU (8)��
(C) � (D) �<IBffif [CJ

69. � ..... Q@u, :t-« � m -11� 1]t1T � � t?
(A)AI (8)Be
(C) grey Sn (DJ Mo [BJ 

70. 'R'lPf 50'Rlifin�3IT'cf;l'Q1Tft?
(A) 1000 (8) 1200
(C) 1275 (D) 1525 [CJ 

71. � 'CLOCK' <fil" '34235' � 'TIME' <fil" '8679' "ff
��ufnlcit'MOLEK'cli"��cfQ'Tm?
{A)72945 (8)72495
(C) 62945 (D) 62495 [BJ 

72. � 31llf cl; fl+tl.fi.:a< � cm:lt ���"ff
3fQ'clcA a, tr�'Qlcf. � t?
(A)��� (B) �q!{qfact
(C)��� (D)cra;qr�� [AJ 

73. � 11 ::rrn:=��q;y � qiif � g\11T 'fl.
(A)1992 -......, (8)1977 
(C) 1982 (D) 1973 [D] 

74. Fill in the blan!< with one of the correct
options from the options given below.
It's time they ............... .. wor!<ing on the
project.
(A) started (8) start
(C) will (D) would start [AJ 

75. Choose the words which re nearly opposite
in meaning to the underlined words;
Opaque
(A) Cloudy
(C) Blurred

76. '7.J��• Uic'; if�� t? 
(A) lJOT� (B) � �
(C)cftq� (D)fcR:rit�

�-
[D] 

77. Aa:.:fQ@ic1 qlt���� ·iftcfoctr t?
(A) A (8) 8
(C) AB (D) 0 [D] 

18. '3ftR � * � aJtl' �· � '" mmra
H)q,) fi\i �?
(A) ?JlT WM -='i-�inti11R.t+iim-1 llR
( 8) � � � <fil ffl'
(C) cfcil'�cfcil'<lil£ITT�
( D) "<t1 tmr qmftq � � � [D] 

79. � lt � q'fc1<q'f�e q;y 21! � � t?
(A) \tllJccills-1 c1i (B) ;n.ra-q_
(C) �ooq (D)��rrq [A] 

80. � � l1 5:6:7 a; '3r-jQ'@' l1 �. 5, �.2, � �. 1 a;
� � � i, � � � �- 220 {IT, of� if�- 2
i}; � cJ;t � � ?
(A)30 (8)35
(C) 60 (D) 120 [A] 

81. •t);:pttrr• f.?la:.:fQfUlo �if�� .fif;IQcb � t?
{A)� (B) �
(C) � (D) � [C] 

82. �<IR98lf'ft�i);c{mi);3UcJiRifiltl�c'TRlt
�cflf1Rlt1T Tttl'T tr cr1f �� � � � �
cftn'i?
(A) 148� (B) 152 �
(C) 154 M" (D) 156 w=fi [CJ
cf,T-J-flJ 'Rffl11l � ilft � � � 'RcfiR' � chr
��if�� t?
(A) �'tTI111lf (B) �mmlJ
(C) � m1JTlJ (D) � � [C] 
CD-R 'RcfiR' cf;'t co,.� m �, .................. ? 
(A)����'1!T�'g
(B) � <ifR �. � � � iilR � uTT � t
(C) ��<i!R�, �cntii1R�'11T�t
{D) �iilRRmruTT�! [B] 
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8S. � � cfiT .lJT,m:fl q � � J:IT1<l' � ufT 

�t? 
(A) � � &RT ( B) � G'lOT &RT
(C)�G'lOT� (D)��� [B] 

86. �'Rfi);trr� 3Q<j4rl HfQqj,,ij am�f.\;cr-rr�
�t ? 
(A) 450° C, � (8) 45° C, fr-:r 
(C) 150° C, �

-� 
{D) 300° C, � [A] 

87. � ct -'�r-rc:I crit3ffi<"I '3ntJi �'<'11�:S �q;l.fl�q; �
di't � � ��lq; � l? 
(A)�lJl<IT (B)���
(C) �� TJTCfr;rr� (D) !llT,r-rr � [A] 

88. � qcf;ft cm:\�� cfiT � �? 
(A)� (B) '1Rf�
(C) �m;, (D) '3@� [C] 

89. � � �"' � � 1'ft tmJTf di't � �"' d;'t
�cfil ✓3 T11Tt, olwfcliT�cmurt?
(A) 30° (B) 45° 
(C) 60° (D) 90°

�.......A[A]
90. ��ct� GIIQ+lcil<"I ................. cl, @!Ht,$\�? 

(A)� (B)� 
(C) ljcl'4i.si1Gft (D) 'H,.,...i<l .... @ ..... n<1�-1 [BJ 

91. � A ( 3, 7) cf� B ( -2, 1 ) cfiT fitt":rr-l 'cf1'i4t ray cfiT
�t? 

(A) ¾ ...___ {B
_
) -�--=-�---� 

(C} _!_ (D) �
8 7 

92. Ai:.:i�@ia il � � � � �, cfitiwflaim cl;
J?W-f-t cfiTlf cfil Jc-ri<c.tf21c-4 lf�? 
(A}�� qcf <AW$<1ll �. � 
(B)��ri�.��
( C} � cJifc��> � 
(D) ���cff4Ell<'iq, �lflql [B] 

93. ��cl;A1:-Til�Fcl;'+t'�cm-�-t'11fu1
.lIT'<ITT� Fctcrim qRQ1w:u clip �if� 
-rtff Pcl,trr l? I I 

(A}q;tc:r ('3)� 
(C} '3fficR (D) � [C] 

94. � qijtq' cfit '1fR 'm-raT t. � illlff '1fR � t. �
illlff 3fR � ilR t_fJ: illlff -lm cf� ,3fcil' � -lm � 
'3ra i'f � 3fR � t I � Fcl;'+t' �TT if ufT qIT t?
(A}� (B)� 
(C} � (D) � [D] 

9S. 'il'Rqi�ft• ct .lIT� (tim) � 'f� ct� t?
(A}� (B) Rtc-i'n:S•lil, 
(C} � (D) � [A] 

96. �-� � � t? 
(A} � "ffiR cfiT ( B) � "ffiR cfiT
(C}��cfiT (D)��cnT [D] 

97. Fill in the correct article.
He is not ............... honourable man. 
(A} an (B) the
(C) a (D) no article [A] 

98. ���Q.qcfil'�mcfit'Gtit: 
(A) � � cnT �faR!� �1-!Qc.<1 � � � � �
q,1cfifftc1 eftm � I 
(B) � � cfiT �fafill� 't�Qc.<1 $ '1fT1t � � �
q,1cfifftc1 emTT�I 
(C} ;hr 1<@1-m\lJRITtl
( o} � clit � � '11ft MI lo 1 

99. � if � � 1$1 crii4th'l cfi'T �'if Fcl;'+t' 
� � -rtff �? 

100. 

101. 

102. 

103. 

106. 

107. 

108. 

109. 

110. 

(A) �cf� cnT ma-TUT cJwrr
(B) �-mmr-DcfiTmm
( C) cf� ( D) � f.rcITT"ul

rr=r=...,.. 
[D]

30 l?te1ki<, 2022 cfiT 68cl � � ';J<+ctil-0 IT� 
� 'Qi'wi$ Cf<+ctil,c � � +tuttAH Pcl,trr tfQ'T? 
(A)·� (B)JTTW�
(C) �-zM�� (D) JTT�TT � [B] 
� cli � � * � � � 3ffr.t � 
fclillTGtTHTi? 
(A)� (B)���
(C) �m!Gm (D) ft�m!Gm [B] 
lNT '1ci (tm" � � � 2022) � 1$1 � 
�,? 
(A)� sJ �e:i mrufTlch1
( C) � mil ( D) 'lffltt�� wfh:f [D]
�cfil����$ri1Tcli��if 
�t? 
(A)� (B)�
(G) � (D) '<hr
"f'a+i•l�1 lt�i;�����cltTTm?
(A) Discrepancy (B) Discretion 

[C] 

(C) Dismiss (D) Disorder [A]
� c{� d;'t � cfiT � fffi"k cfiT ilmT iRrl cli 
� Pcl,trr ulraT t?
(A)�
(C) t)q;
� � q;m � if 
(A)� 

(B) fct<1l
(D) JTT.:r 

� iih;ft GtTcft t?
(B) mmfi

[B] 

(C)� (D) � [C] 

·�<1qtS 'RG�r ... <tJ.ilcfiich (CCPI) 2023' if� 
� cfQTi?
(A)� (B)� 
( C) 3fTocfi ( D) -iTcff
L + M cfiT '1N L, M cfiT mf t1
L • M cfiT 3f'U L, M clif�'tl 
L + M cfiT '1N L, M di't �i1 
L X M cfiT 3f'U L, M cfiT � t. 

[C] 

cfl A&.t�@iH if�� '1ftf t ft); R, T cJit JJraT t?
(A) R..,..AxS+T (B) R..,..A+SxT
(C) R..,..A-S+T (D) R..,..A+S-T
Fcl;'+t' cN if�� i4�4t+l M?J �? 
(A)2007 {B) 2008 

(C)2009 (D)2010

[A) 

[8] 
Choose an appropriate translation for the 
sentence given: 
She saved money for a rainy day. 
(A)� ��T � fi;rcr �� I
(B) W����
(C)W�����I 
(D} ��c!m�fi;rcr��I [DJ 
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111. � f1t itoft cJiT � � i-
c, E, H, L, Q, ?, 
(A) U
(B) V
(C) W
(D) X [C] 

112. � itoftq;r�t­
(A) �
( B) RI iffel ·H-1 
(C)� 
( D) 1ftc: [A] 

113. tj������tR���t1
(A)�� 
(B)�� 
(C)Rh1l$%� 
(D) zcrr�� [C] 

114. A"'1fi.lK!)a if� fcnr cfTcPl if�� cnT lflWT
�TflTI't? 
(A) � 3ITll ©err t I ( B) � -q1;fb:fi � 6 I 
(C)����t1 (D)���m<TTI [D]

11 s. .,ftct,1.)d�tffi � � trr-l � � cnT .fTJJ �-
(A)� (B)� 
(C) wm (D) � ;rcft .,gf [D] 

116. f?t"'1fi.l�ct � � � 111'f �-

. (
A) 

I 71\ 1- . (B) 17KI

(C) I 7K I ·. . - �) ·1 /K I ·

117. Complete the sentence by choosing the
correct preposition from the choices given
below: 
What's the time ........ your watch?
(A) in (B) at 
(C) on (D) by [D] 

118. ��if ���;rgfi?
(A) ;J)-scJHI (B) �
(C) � (D) � [D] 

119. /1 ABC ct'tn' /1 DEF if� AB_ BC_ CA_ 3 oT � 
DE - EF - FD -5,

�cnT�ETTrrr-
(A) 9:25 (B) 16:25
(C) 5:3 (D) 3:5

12 0. ff i:flcfi<U I f.\'cfiTtr 
I i X + mly + /i i = Q 

J
2 
x + m

2
y + n

2 
= 0 

[A] 

if tnt 1 = .!!!J_ * !!i. m ,A4\cfi<OIT EiRT � 
f 2 mz nz 

�i-
(A)� (B)� 
(C) � (D) Ai'cli0� [A]

121. Ai..tfi.l�a q � fcnl � if 3'Tcm:r � � ir-lR
if -td c1iT lrQ11J .:rdiftfil tn? 
(A)� (Bl -i:fi1-("1�-,ai,=11 
(G) ��ai•II (D) TfUT�cR [D]

122. � 'Jj.-� � � � � tR er � 'ffiwf if
�cRnT°t? 
(A) --36,000 ifi. 'lff� m1 
(B) 36,000 �. 'lff� off
(C) 36,000�. �cwf 
(Dp6,000ifi., �off [B] 
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123. 

124.

125.

126.

127.

128.

129.

130. 

131. 

G �A 11tf fttitt 2022 c'liT lfcliT�Rclmf t? 
(A)��cf� 
(B) � � Qqfc:1(01 �
( C) ��er '3TTffl .f"'q
(D)� [B] 
�'lt'R if 1JTJ't Q..:41Qffi drr � mslfT �?
{A) 10,890 (B) 12,560
(C) 11,283 (D) 13,443 [C] 
��tR;ruffif�'31Ttj�if�
1TQT t?
(A)< 1 cTIIT (B) 1 -4qr:f
(C) 4 -6 "cflf (D)6-10"cflf [B] 
m,Q'�mfr'1fltrrllct�ifi)���ull
�t?
(A) '<i""I.IQle1 �&RT� ;::q11.11e1ll $�$�
(B)�<ll&RT�;::q1q1e11.1 ��$�
(C)fcMH�<l,�ITT<'flq$�ct'<i""I.IQie1&RT
(D) �$�ITT<'flq$��$&ffi [B] 
wt il � � tJT �qi)�� Q"SI c'liT �
:r '3JR tR � �-Q"SI � � t. rn � t?
(A)� (B)�
(C) f.Wct?J ( D) '1-1 :j.:@-1 R cli [D] 
� crrf � � if 1% � � 3'. "ffi � cl'1f ct
� if m-rat � ("[TJ'IPJ �Tctn'! cfQ'T tfr,ft?

(A) _!._ % 
2

(B) 1%

(C) 2% (D) 4% [C] 
Pta:.iila;ct q � � 'flll?l � Rc'4idd4 � q
q;rt? 
(A)��ff�� (B)���
(C)ff�uJ:f�� (D) e�il�� [A] 
� �- � mRf � � fam:r lf'q'f
�EH inT-Rft fitm-:r � if 'ir-ft? 
(A)zy;ff (B) �
(C)� (D)� [C] 
�i:tT:tn;J !lroJ����c(;t��R
mil��u,ai? 
(A) �Qiljjf.l,@H � (B)�ltT�
(C)�� (D)fu.J 

132.

133.

134.

135.

136.

137.

138.

140. 

� � � 12 ri if 'ffl'cmuT 'iQ'1'if � � � w,ft
tll � i, "ffi � � � q'fl if fi!p_'fft tfr,ft?
(A) 18 cTIIT (B) 24 cTIIT
(C) 30 cn>T (D)36cn>T [B] 
ilq11Tm�t? 
(A) '1l�0llik1 >lt�r ll ( B) '3ffilf if
(C) fflfci'q;.:i ll (D) ,foHF©O-s ll [A] 
f.!ta:.ifi.l�ct q � � 1946 if � � lffit"UR �
�if� ct �cl;� i1· 11.n.ftct fcl;il' 'Ill'
tr? 
(A) ftj\jjqRje; � (B)��� 
(C) 6"Rie1ie1 �� (D) llle;-1e1ie1 WSJl�lll [Cl 
�m;ftq fctcl;m cn14a;11 � ri if � � 1TQT
tll? 
(A) 1977-78 (B) 1980-81
(C) 2001-02 (D) 1984-85 [A] 
funt'-l�1l'Q'ct���ilcli1IT
ai§,kQI� ���t°?
(A) ;fimHr (B) cmc:r
(C) �le1icll-s (D)� 
� � cJil <1'1'1R¥j& � � � 1TQT?
(A) l-l(';Rl\jjl � �
(B) � 'lj_Qle1�e;
{C) 1-l$i'<lcle1 � 
(D) l-t$l'<icle1 R�

[D] 

[A] 
Choose he correct Hindi translation of the 
word given below : 
Ragistration 
(A)� (B) cj_,flcji<Oi
(C)� (D)� [B] 
'IP1qR' � ct � q;ftlt"ldftl -mr�M � 11 �q<tilq
RG�f.ft jJ;T � � fficfi'R &RT� 1ltlT 'lJT?
(A)�if (B)�if
( C) ii1 �f;iq1 .'1 (D)�ll [C] 
f.!ta:.i!H@ict ·11 ll � Hicfi2.4ctl � � � �
t? 
[A) <ll-l�<Nft 
(C) ��

(B)�
( D) 1JT1T"Nft [DJ
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141. �m3ffq;�ft-«nt2019cl;��m;=tf

(� �nfira �" ;rgf) � q.'f itbr c6T �ra lfR
�i. �t? 
(A}� {B)� 
(C} � {D) � 'W;�T [C] 

142. f.)J...f�@ict 4 � � � 'QicRR A1, A2, A3 �
A4�c6Ttrrrl'�*�lfttt?
(A}= sum {A1 to A4) {B) = sum (A1; A4) 
(C} = sum (A1 : A4) {DJ= sum (A1 -A4) [C]

143. f.)J...f�@ict 4 � � � � ;rgf t?
{A} ���Wa-TT: � 15
{B)mi$�cfiT�:�19
{C}�cfit"{afTcfiT�: �20
(D)�mf.rcfi�cliT.JITTrcoR:�32 [C] 

144. Aa:.:f�@ict 4��c1mtf?fcf>t�'&fi�"l'@T�?
(A}� {B)'11@ 
{C} Tf�yq; {D) � [B] 

145. Fct:tcl'ffJ fq,cc-QJ.j ............... � JmPn i?
(A} 'q1TqH "{Tl{ { B) � � 
(C) 'qJTqH� (D) �fuq [D] 

146. q,'fiffl•I � if �Q' 'QiR" ��if�
� $�q;r-:z�q:qrt?
(A} 6 '3i'R 68 {B) 8 '3fR 68 
(C} 6 '3fR: 72 {D) 8 3ft<' 72 [D] 

147. ��clil�if���c);�ifir.rm
'11Tffii?
(A} 15 �col-......, {B) 4 �-qi) 
(C) 31 �cITT (D) 8 �cfil (Cj) 

148. � titztt- � � �� cliT � i?
{A}��Pitm {B)�� 
(C)�� (D,�� ["'") 

149. � "fl'lfiefl 2021-22 � � 2021-22 if
��cl;�(2011-12)�Qt���
� cfit � � � q:q'J tft?
{A) -5.2 (B) 3.2
(C) 6.04 {D) 11.04 [D] 

150. c4R � 2:3:4 cl;� if t ff� -RcfiT � 39
t.m�mtt�i?
(A)13 {S)26 
(C) 39 (Q) 52 B 
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